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Supplementary Materials 

 

Figure S1. Change in larval body weight with time was shown in three groups constant versus 

fluctuating temperatures. The curve represents the fitting of larval body weight and time. 
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Figure S2. In T8 °C and F12 °C adults were failing to make eclosion, and the pupa were vacuous. 

Table 1. Curve fitting equation, degrees of freedom (df), and coefficients of determination (R2) of the 

relationship between the body weight (W) (mg) of A. grahami larvae and the time after hatching (T) 

(h) at three fluctuating temperatures 6–12 °C (F8 °C), 10–16 °C (F12 °C), 14–20 °C (F16 °C), and 

constant temperatures 8 °C (T8 °C), 12 °C (T12 °C), 16 °C (T16 °C). 

Temperature (℃) Equation df R2 

F8 w = −1.837 + 0.139T − 0.00252T2 + 1.5E−5T3 − 1.3E−8T4 34 0.863 

T8 w = −2.348 + 0.197T − 0.00445T2 + 3.5E−5T3 − 3.9E−8T4 24 0.879 

F12 w = −2.248 + 0.331T − 0.01082T2 + 1.2E−4T3 − 2.1E−7T4 29 0.864 

T12 w = −1.320 + 0.189T − 0.00847T2 + 1.3E−4T3 − 2.8E−7T4 25 0.970 

F16 w = 15.269 − 1.116T − 0.01907T2 + 1.7E−4T3 − 7.0E−7T4 20 0.942 

T16 w = 86.127 − 7.780T − 0.019058T2 − 8.0E−4T3 − 7.0E−7T4 15 0.988 

 


